Week 9, Day 1
Subtract using number facts

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. Start by reading through the Learning Reminders. T ———————

Round decimals to the nearest whole, tenth and hundredth.

They come from our PowerPoint slides. T =
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2. Tackle the questions on the Practice Sheet.
There might be a choice of either Mild (easier) or
Hot (harder)!
Check the answers.
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3. Finding it tricky? That’s OK... have a go with a
grown-up at A Bit Stuck?
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4. Have | mastered the topic? A few questions to ety el o eloing e

{a) 3.407
(b) 4.821

Check your understanding.

(d) 5.104

Fold the page to hide the answers! 0 575

How many times must Dan multiply 0.048 by 10 to get 48,0007

‘What number is one hundred times smaller than 0.4?
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Learning Reminders

Subtracting single digit numbers from 2-digit numbers using facts.

How can the first
calculation help us
answer this one?

lo-4=17

The 1s digits are
the same but the
10s are different.

The number we are
starting with is 10
more, so the answer
iIs also 10 morel
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Learning Reminders

Subtracting single digit numbers from 2-digit numbers using facts.

20 —4
30-4

How can we answer

these without having ?
to do any extra

working out?

We can use the fact

_ )
6 —4 = 2 to answer 26-4=22

these and many other 36-4=32
questions tool! 46-4=42
56-4=52

\_ 64—-4=62 )
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Learning Reminders

Subtracting single digit numbers from 2-digit numbers using facts.

How can we answer
these without having
to re-do all of the
calculating for each?

28 —

Knowing8—-3 =5
helps us to answer
these questions.
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Practice Sheet Mild
Subtracting patterns
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Practice Sheet Hot
Subtraction patterns
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Practice Sheets Answers

Subtracting patterns (mild)
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Subtraction patterns (hot)
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A Bit Stuck?
Subtraction pairs

Find the answer to the first subtraction.
Use this to answer the subtraction next to it.

7-3= 17 -3=

1 1 1 1
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6-2=

1 1 1 1
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9-4-=

630 € €3 €

S-t-r-e-t-c-h:

Use one of your answers to calculate 28 — 4, 38 - 4 and 48 - 4.




7-3=4
57-3=54
87-3=84

9-2=7

99-2=97
49-2=47
69-7=62
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Check your understanding
Questions

Fold here to hide answers

Check your understanding
Answers
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